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(3) A

SECTION — I
oqusg -1
CHILD DEVELOPMENT AND PEDAGOGY
oo foma vd g

There are 30 questions in all in this section.
All questions are compulsory.

T EUS T Hel 30 W 2 |
quft wya e & |

Which of the following statement or statements is/are false ?

(a) It is not necessary to understand that each child is unique.

(b) The child develops as unified whole.

(¢c) Any problem in one aspect of development is likely to affect the others.
(d) Development is a sequential process.

(A) (a), (b)and (c) (B} (b)andc)
(C) (¢)and (d) (D) Only (a)
foafafiaa 3§ @ @9 o1 a1 HIF U FUA IEA B/E 7

(a) € TusE w0 € & T uees w=n arfgdia 7 |
(b) =1 U Tehishdl qui o & § ferepfia g1 2 |
(c) TorehTH < Ush Uge] H ferell THE i gERi o1 IWITad T 31 TFITeHT 81 2 |
(d) ferera vk argshiaes afman 2 |
(A) (a), (b) 3R (¢) (B) (b) 3 (¢)
(©) (¢) T (d) (D) e (a)
occurs when there are orderly and progressive changes in a human being due to
maturation and experience.
(A) Growth (B) Development
(C) Physical changes (D) Mental changes
a9 BT A1 el ], & gftoeErar 3 IEEE % B0 A 1 shrag S wifaviie
uiterd gid & |

(A) g (B) T

(C) ifie wedmE (D) wrAfE afEdq

Which of the following is not a characteristic of early childhood ? &
(A) Pre-Gang age (B) Imitative age Gﬁ
(C) Questioning age (D) Toyage =
frafafiga @ o <= @t g9 &t foema & 2 7

(A) -2l 31 (B) SrHita 311y

(C) Hat FE 3 (D) Tt 3y

The Nature and Nurture debates refer to

(A) Genetic and Environment (B) Behaviour and Environment
(C) Environment and Biology (D) Environment and Upbringing
il wd ur ferare fraferfea & & forea vafem @ ¢

(A) ITATTEhI Td araTeR (B) SHEER Ud ATdTE

(C) ardreo U Sftafesm (D)  SITATEOT e qTed- -aigo]

P.T.0O.
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4 PL-1
[.Q. of a talented child is
(A) 130 (B) 140
(C) 55 (D) 120
gicwTaTett ST <l gfg afsy gt 2
(A) 130 (B) 140
(C) 55 (D) 120

Schools should cater for individual differences to

(A) Make individual students feel exclusive.

(B} Narrow the gap between individual students.

(C) Not to assess the abilities and performance of students.
(D) Understand why students are able or unable to learn.

Thedt i SAfaaTa firaat st s @ =rfee ®ife —
(A) W 973 i fafite Teew wam & | “'@*ﬁ
(B) Tl o o9 % =T I & HH 7 |

(C) B ud Bl i emaratt i vesh 1 78 99 & fow |

(D) wgA s faufromdred domd a srmmd RIS R 8 |

A child of 16 vears age, scores 75 in LQ. test. His mental age will be years.

(A) 8 (B) 14

(Cy 15 (D) 12

16 ad 317 1 o= gfg afey wleqw § 75 376 Wi Hia1 B, A AMRR sy ad
gt |

(A) 8 (B) 14

€y 15 (D) 12

Each person’s work is a reflection of certain abilities, in performing any particular task, a
person selects some of his mental abilities as a model. This principle was given by

(A) Thorndike (B) Thurstone

(C) Gilford (D) Thomson

W safa w1 e ffvaa Fraare i wfafars g 2, foret fag wrl = %@ 5 safe s

T AT Al O 8 5% i uideyl ® w9 1 gAE oA 2 | 78 fagr feeem fean ¢
(A) uieE® (B) ¥

(C) frewid (D) uiggd

Which of the following is projective technique of personality measurement ?
(A) Rating scale (B) Observation

(C) Interview (D) Thematic appreciation test
e & @ 1 @t sl arom 6 vard fafu 2 ¢

(A) Trafor wr (B) &t

(C) HATHI (D)  HUFS G wieor

https://www.pygonline.com
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10,

12,

13.

(3
Creativity is usually associated with
(A) Hyperactivity (B) Low comprehension
(C) Convergent thinking (D) Divergent thinking
GIATCHhAl J&Ia: fhad Fwafa & 7
(A) Afaafzraar (B) Y TRl
(C)  firar fad (D) I9Er fa=
Which of the following condition promotes adjustment ?
(A) Acute anxiety (B) Obsessive thought of guilt
(C) Fearof illness (D) Free from neurotic fears and anxiety
freferfiga 4 @ +ia t fufs s S s et 2 ¢
(A) e fa=m (B) 31Uy 1Y % TR | S 9
(C) ffurd =1 = (D) Taferea v it faren & wfe
Signs of gifted child are :
(i) Novelty in expression OP{0]
(i) Curiosity m
(1) Talkativeness
(iv) Hyper-activeness
(A) (i)and (iv) (BY (i) and (i)
(C) (i1) and (iv) (D) (1) and (iv)
giewTeTTed ST & dgm T E 7
(i) aifireafes o Feaan
(iiy Foramen
(iii) FrataTy forra
(iv) ferferaa
(A) (i) 3 (iv) (B) (i) 31 (i)
(C) (i) 3 (iv) (D) (iii) 3 (iv)
Who gave the tormula of 1.Q. written below 7

Mental age

[ntelligence Quotient = Chronological age x 100
(A) William Stern (BY Terman
(C) Binet (D) Galton

af wifes 3 fore Fraferfiam wnfen foem foom ¢

qHfEeR
gﬁgaﬁhmﬁaﬁ:@mxlw

(A) faferam = (B) @A
(C) T (D) Tieed

https://www.pygonline.com
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14,

16.

17.

(6) PL-1

Ravi’s intelligence test indicates that he is in category average to above-average of
intelligence. However, his grades in reading, spelling, social sciences and science are very
low. His Math’s grades are quite high and writing skills are adequate. Ravi most likely has
(A) Dyscalculia (Maths Disorder) (B) Dysgraphia (Writing Disorder)

(C) Dyslexia (Reading Disorder) (D) Dysphasia (Language Disorder)

fa 1 gfg wheror 3fra s 2 for ag sitaa @ sie, 3itaa o ifess giguan i ooft & smar 2 |
gTeieh UgH, da-it, arartses fogm afit fosm 3 3ue U 55 w9 2 | 39 o & o wrh
it & | 1fa oraa e 1 a1t 2 | 9§ it wrwrer 3

(A) Teadhegpfomn (nfora & awafea fopfa)

(B) Fommftran (3rg & ardfa fagf)

(C) femarfaman (Tea @ wrafem fasfa)

(D) feuhfan (sew o wwfid fasfa)

“Learning is a process of progressive behaviour adaptation.” This statement was given by
which cducationist ?

(A) Skinner (B} Woodworth

(C) Crow and Crow (D) Gates and others

eiigT SHeER N Ieal AR i Uk fshan 8 |7 38w T faemfae <6 g fesnmwn ¢
(A) ferm (B) Tead EE

(C) 3l Td I (D) T8 T 3= S

Srishti is the student of class two. She was taught basic mathematics by the teacher. Next
day while shopping she pointed out the mistake in total done by shopkecper. Which type of
learning 1s this 7

(A) Negative transfer (B) Positive transfer

(C) Bilateral transfer (D) Zero transter

HE1 — 2 1 DA YR H1 AR 3 I 700 faw & garer SHEnl, 3 i 394 991 o
T T 3T gHHER g1 6 Tt A1 6! Terd! =i Ffed e wel e | 78 stfomm

HHHAATFLE ?

(A) THHS TFET-T (B) YshTWIcHs: AT~

(C) feusfia s (D) I SIETGE

Two opposite desires present in an individual at the same time is called
(A) Conflict (B) Frustration

(C) Anxiety (D) Pressure

U =Afaa § Tk gHa W < fqufta s=a1371 %1 81 Fgaral &

(A) T3 (B) 3

(C) Femm (D) &M=

https://www.pygonline.com
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18,

19,

20,

(N
Which of the following theory is also known as theory of reinforcement ?
(A) Operant conditioning theory
(B) Stimulus response theory
(C) Classical conditioning theory

(D) Theory of insight

1 4 o fora fagra =1 o =1 g st e 2 2
(A) Toramsg e fagr=

(B) IEms 3w fagra IOR0)

(C) Wt FgeE g E@&%

(D) =% fagr=a

Choose the example that illustrates intrinsic motivation.

(A) Vandana is working hard to score well in exams as she wants a gift from her parents.

(B) Urmila is completing her homework so that she can watch TV after completing her
homework.

(C) Ila is reading more books so that she can secure first rank in District and her school
get fame at District level.

(D) Megha is exploring various resources for her project because she loves learning new
things.

Frefafaa @ 9 38 g & 99 iU 51 Aais AT 61 gl & :

(A) a1 giien § 3<e 31 9T i o foer a3 uftam e @ fomd oz s wren-fuar @
ITER I o T |

(B) 3T HeThe e THIE L T & Fiifh TEhrd HuTE Hh 98 3.t 7@ TRt |

(C) 3o 55 arl Jaeh Ug &l 8 Fifeh a8 foret § wom T wmea e faanera 1 am faen
T 9T U9 HT =918l 2 |

(D) TaT A giEeHT F1 % fore fafi= am qem @ 2 w=ifs 98 78 Ieer o w3 |
o Tt 2 |

Whe among the following has not propounded the learning theory ?
(A) Thorndike (B) Skinner
(C) Kohler (D) B.S. Bloom
o 4 @ ferem aaferm frgra w1 wfaaren =& fepam ¢
(A) e (B) ferm
(C) Higer (D) f\.ud. s
P.T.O.
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24.

(8) PL-1

Repeatedly asking children to engage in learning activities either to avoid punishment or to

gain a reward will

(A) Decrease extrinsic motivation

(B) Increase intrinsic motivation

(C) Would encourage children to focus on mastery rather than performance goals,

(D) Decrease children’s natural interest and curiosity involved in learning.

TR -a1 Tl bl G ° g9 I1 541 9 o fore @i 6 nfafafemi § gaa g & fau sz «=n

UL R

(A) F¥ht FTadl ST Bl HH FAT R |

(B) 3Eh! ST=fieh ST hl el B |

(C) o=l hi S el 6l 9y mary giftel 1 & ufa ©Im wf=a @ % fau genfza
FAT3 |

(D) ==l hl WTehfdehs & ST dia 5 ik g & T #1 w0+ 8 |

According to RTE Act, 2009 working hours per week for teachers are

(A) 40 hours (B) 42 hours

(C) 45 hours (D) 48 hours

A & 3. arfafrm, 2000 % srgER e & foo ufa aearg swm % fuifa 92 &
(A) 40 EF.' (B) 42 El'c' -

(C) 45+ (D) 489 = i?ﬁ:%

Which among the following is different from the characteristics of a Good test ?
(A) Rehability (B) Validity

(C) Objectivity (D) Aptitude

foe 1 3 i o e 3T e i favaran @ = @ 7

(A) Torvawfraa (B) dem

(C) ergfsan (D)  Ffema

Which of the following is most important in learner centered curriculum ?

(A) Teacher (B) Child

(C) Contents (D) Environment
farenefi SHfza argmsn § Frefefiaa o @ o o vl 8 7
(A) HAEATTH (B) ==l

(C) Tawaasg (D) STeTeRoT

https://www.pygonline.com
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25, A Reflective teacher ereates classroom situations for students to
(A) Listening the lecture.
(B) Taking notes tfrom the lecture of the teacher.
(C) Maintaining classroom discipline.
(D) Promoting interaction between students and the teacher,
s famaasfier foreres e -per o Ut uftfefa o= otan 2 T o
(A) SATEIH TH T |
(B) wher-hel T fnereh & samea & Aied of uekh |
(C) HeT-He H ITTIEH 91 T |
(D) Bl 3R e o Trerfes 3w i dicae fie |

26, Action resecarch means
(A) A longitude research.
(B) Anapplied rescarch.
(C) A rescarch initiated to solve an immediate problem.
(D) A research with socio-economic objective.

foraTces 1@ @ 31 2
(A) U 3 HEYH |
(B) U Y UM |
(C) U vy fored dohTer aae =i g fopan s & | EHE
(D) wrHTfSTeR - 3Tfieh 389 < |19 U Wy | Eﬁ

27.  According to NCF 2005, the role of a teacher has to be
(A) Permissive (B) Facilitator
(C) Authoritative (D) Dictatorial

NCF 2005 * 38R, U iz 6 yftresr 21 =ifzg

(A) 3dIEH (B) gfaqurera
(C) aTferrin (D) dHEE

28. The purpose of evaluation is

(A) To label children as slow learner and gifted children.

(B) To identify children who need remedial measures.

(C) To diagnose learning difficulties and problem areas.

(D) To provide feedback on the extent to which we have been successful in imparting
education for a productive life.

AT %1 399 FNEA12 7

(A) w=di =l ug fnenef] ik ufaureneft s=3i & w9 d ifera v & fag |

(B) I a=l ! 1@ wE & fou {572 s sur 6 smavasar 2 |

(C) Hiaa i Hiergai it wmen &= &1 fem & & foaw |

(D) 34 Hiwt ae 9fayfe YeH 1 el o gu Icareiid sfad o fore forear wiem 6 1 owa @
21

P.T.0O.
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30.

(10) PL-1

Match the following Principles of Development with their correct description :

Name of Principle of Development Description of Principle

(1

Proximodistal trend

(a) |Head to Toe Sequence

(2)

Cephalo-caudal trend

(b) |Different children develop at different rates

(3)

Inter-individual Differences

(c) |In a single child, the rate of development
can vary from one domain of development to
the other

(4) |Intra-individual Differences (d) |Growth from the Centre of body to outwards
m @ & @
A d : b
(B) (') (:)) [.) {CI] e
B @ ® © @ i
C) (¢ d) (b (a
D)y (d) (b)) (@) (c)
faatafiea fawm & fograt =1 39 vt avia 4 faem Hifs .
o & frgra w17 fergre =1 9
(1) |wifig-qui@ e |(2) [Rwa S
(2) |fax - verfimge fem (b) |fafim = - aaea d |
(3) | steafedah firmard (c) |fereht uah o= i foprar i @, faeerr & b @ <t aman
8L 4 =1 1 w1 2 |
(4) |sraudafeas firmand (d) [vR % 53 8 IR H AR G
H @ G @
(A) (d) (@) (b (o
(B) (@ () () (d)
(C) (¢) (d) (b) (a)
(D) (d) (b) (@) (o
Development proceeds from to .
(A) General — Specific (B) Complex — Hard
(C) Specific — General (D) Simple — Easy
fam £ 1 SN T 2 |
(A) = - fafire (B) wifed —faa
(C) fafsre - amm= (D)  HTHTU- 3TEH

https://www.pygonline.com
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31,

32.

33.

34,

35.

36.

37.

(11)

wug -1l
HTET - |

f&=i

T @US T F1 30 T E |
ot woq arfE 2 |

fepugumda foem fafy & dau d o Fu 2

(A) T8 U JTATSAHATS T0Iet 2 |

(B) 48 3= qrearfies T & faanfeia & foru arferes soamfi 2
(C) % T2ied 4 @ fafe =1 ffv=a =9 ygM foman |

(D) TS < =aTshtu1 Ud ifgea =t foren 3w faftr o wdf & = ot |

Aferens forear worredt § s 6 fren Frafafea G @ e mem a d snawdi 2 ¢

(A) “had fepamelt FHH | (B) HHIRe Fiato ¥ |
(C) wifa-g= A 4 | (D) 9 | HIE A | |
o7 farequ < we # Sfaash ATSYH worTed! i ®&i Hd 7 %ﬁ

(A) 3an feremeff I w1 & a=i 1 T4 TATE €9 Y HTEE1 5 bl 8 |

(B) =@y ferameff I urarh wtvd 4 2 e s dshan 2 |

(C) za9 Jaferes fremor o aifers wa fen s 2

(D) =g Toreror worredt arferss farenfelan areft <t e 3 sreamA o foro swmf A 2 |
T G HH 1 aiEiE 1vEe 3 % EiE T8 2 7

(A) AT HR 1 ATEH |

(B) 31em vq faden |

(C) Ternfifi gro wreama e figes gro Antesi |

(D) FHeATcH TETHT |

‘HAgYH T T GUH AThia b auii =l fergamn wRY i || Iecified @rd foha W &
ferenfiiali 3 et et 2 2

(A) wrafiyes T | (B) I Wufge & |
(C) HTeAfs W | (D) I ATATHE TR < |
WINT-hivret § O stfieafe $ive 2

(A) T 3R F | (B) fer@an 3 ugan |
(C) e AR fergar | (D) Y& 3R " T |
@ ferm T Hiviel A wafua g

(A) @9 (B) <A

(C) i&H (D) A

https://www.pygonline.com
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39,

4'].

41.

42,

43.

44,

45,

(12) PL-

fermarsia (fepté wrr) frm yer i stfrm amfi & 7

(A) SETH i (B) 94 @t

(C) %24 ALt (D) e |

AT WERTITEAT <6 9P H wfrferd 421 3

(A) RIS He | (B) &V & |

(C) T e | (D) fasma et |

TR T BT 3

(A) 3ITEHE I (B) e

(C) 3@ e fFrim (D) TR ——
wtftaeh qeaich o FaY H I0gR HU 2

(A) Wit gearehd H ErEiEtE 99 @ 9 § |

(B) wifEe geaichene fumam, @eefier it fowa fomm gm =ifee |
(C) HiRas gearera © gygfsar aiftss 2t =nfge |

(D) utRae gearen | faeneff i snemnfireafa % e +9 faem =ifaw |

“HeaTeh 3ggzal $i Ifed 6 T F1 v e i wfmen 2 1 g a8 gt et
27

(A) TTgHfeH (B) ©.9. Tw

(C) =™ (D) TgTREH

feremefi 1 g weeht Sfeamsai =i gL T U HER FH Frar few Fwaera 2
(A) Hem frem (B) teh fareqor

(C) areame faegoy (D) TENTCH freqor

Td U AT Yoo 12 & :

(A) o ferenfiat o fier geier B war 2 |

(B) Terenfefai &1 st i o frier s dan @ 2 |

(C) zad stfirreshi =i feramed i fria wife i stmesrdl gidi wdi 2 |
(D) I JoTedt aft A okl I wehdl 2 I fereneii-frerss sgua Ha & |

Ircrfess whteqor <k fior § fepda wel =61 w&im fepan ST 2 ¢
(A) @ (B) =
(C) T (D) =X

https://www.pygonline.com
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foraferfiaa merier % Sum o v w46 9 50 9% % S A ;

O 1 T Hed Mol Ear @ | U g @ T fatiedt wifaet 3@ o o it € 1 S
aea W 1 T aitfeufemt & ormt 61 et @ w1 v @ asd shm a S Ay ag W g, 9
Huft Igeva 1 T A& B HH | I o0 @t 77 e Wil fh A SHfea wa gugc Famm & 1 19
I Jraen @ @it i geredt 8 | St Sfda wa ve uideufa + ame od 8, 3 it g 7@ 331 wehd
HR H{ATgAT < e i 1 TE Hehd ofd & | HR0 IR o 38 fa¥el AR gfva ywre 4 o
9 T HA 8 | dfepd, W8 @ <61 oft e frerfi S s wHeen O 3 8 9§ 3 U
%M . 93d 8, T8 339 wrifama Sfem o sronifa =1 faw 9o S R | 9eis 99 & Sfew § 3gem
g1 =1fge | #fe gram i 39¢va 7 2, af 9 96t 9 20 | R BT 7 gER] g JEAT STaeEh
2 IERn g T aqan f e A @@ 2 |

46, ‘Hed’ vieg &1 uel wfg-fawe @

(A) e+ T (B) ¥+ Td
(C) #g+t= (D) §er+Td
47, frafafiga oo fow wee & el w= 2
(A) 9 (B) vl
(C) 3w (D) A
48. ‘ferieft’ wreg =1 faetra gm -
(A) e (B) aradef s
(C) ¥ (D) Y
49. TR H WE TGN 9SG H A B
(A) TAH G | (B) HH T g9 |
(C) TAHIeu | (D) = =i feum |
50. ‘WL WA
(A) o4 (B) MTaar=s G5
(C) faemeres Fsm (D) Sfaqar=e I

frferfiga ey & SR T v 5 51 1 55 9 o I S

= yfn, yft W w5 aren 99 3R 3l Tapfd — g9 i1 % afmfea w0 @ ug w1 wE s
2 | 9 < ifiges =9 3 agfa < ufa T=a S g Fdea € | S TERar geat & Ty g2t 7= ard,
g Trde 2reft 2 1wt wven <ht R | S srge Tifvret vt o€ 2, 3 o R 9 S waerd 2 |
AT ot FaTE 5 ST A Y 1 g AT 2 | 3k S & gL urgin i | a5 2 |
geall W11 & 3R 9 T= 1 § gt 1 T 8 | S 98 Wid 61 &, T8l 54 IR W w1 gEd e
A g &1 &l 2 | HIA1 39 U Tl I G0H 99 § FEd1 & | 39 ThR el T o aed |4 5=
STt 3 | S Fu ST e ura T 2 1 A S 3 SRR R uTeT siel ardt 3 3wt
A AT &, TR F Ay s g g |
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56.
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60.
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EreiEIco e
(A) Fes s g aE | (B) T gou sga wu & |
(C) T goo @ | aifes 2t | (D) st gea 7 3feht 51 HH |

‘et vree <=1 U= B

(A) el (B) iy

(C) Tafy (D) faeh

“Igl % oo gealt wrgyfi 6 e e FEl ] 17 9 § BE W he R 7
(A) =TT viesy (B) 9 dad™

(C) wfewy gdum (D) 3mE~T 4
e YR @

(A) Shfem (B) Tq@Hich

(C) Ffeem (D) Iwafam

‘FT WIeg %1 U 31 B :

(A) Fafeda (B) A .,I@%
(C) =fwa (D) fffa =
TRl  fohaH M AN U E 7

(A) =/ (B) TH

(C) = (D) @A

TEAT % AT T F1e 1 THR & ;

(A) Taarmeds ama (B) hqared A

(C) | T (D) ST 9T

<l vTegi 1 S o fere sy faom fage waaman 2

(A) Taa fag (B) s g

(C) Faaw fag (D) @i faga

‘BT % dF T’ ST 1 T FA 2

(A) Y e foam @ | (B) UHATER S T |
(C) ¥ ush ot fafa a7 @ | (D) HHAT e BT |
‘agd cAfead aF1 % 312 1§ 3T HaTel & ;

(A) Hel a9 | (B) 2t IBTeT |

(C) HIS Suh &M | (D) Sl M |
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36.

(15)

SECTION - 11
LANGUAGE -1
ENGLISH

There are 30 questions in all in this section.
All questions are compulsory.,

To free the slave, the chains

(A) Dbeing removed (B) had been removed
(C) isremoved (D) was being removed
The convict by the neck till death, was the verdict.

(A) isto hanged (B) 1s being hung

(C) isto be hanged (D) isto being hang

‘She said to her son, “What do you like 7 The indirect speech of the sentence is
(A) She asked her son to like.

(B) She asked her son what will he like.

(C) She ask her son what he liked.

(D) She asked her son what he liked.

The phonetic sound of the letters underlined in the word “together’ is represented by the
symbol

(A) d (B) ©

€y o (DY ds

Which is the correct transcription of *question’ ? OO}
(A) 'ku:s lon (B) 'kwestjon Eﬁ
(C) ‘'kwu:ln (D) 'kwuschn

‘Learning is made stable and everlasting” 1s a merit of
(A) Bilingual Method (B) Structural Approach
(C) Direct Method (D) Communicative Approach

‘Priority of Reading’ is a principle of
(A) Translation cum Grammar Method
(B) Dr, West’s Method

(C) Structural Approach

(D) Communicative Approach

P.T.O.
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39,
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41.

42,

43,

44,

(16) PL-1

‘It stops power ot thinking freely’ is a demerit of
(A) Bilingual Method

(B} Direct Method

(C) Translation cum Grammar Method

(D) Substitutional Table Method

Bilingual method includes

(A) Translation by teachers only to explain the matter.
(B) [Insistence upon reading only.,

(C) [Insistence upon writing only.
(D

) Optimum exposure for discussion.

The receptive skills comprise
(A) Listening and Reading (B) Listening and Speaking
(C) Reading and Writing (D) Reading and Speaking

Writing 1s more complicated skill because of

(A) its variety of fields. EE

(B} its last position. Eﬁ

(C) its inclusion of other subjects.

(D) graphic representation and presentation of structured thoughts.

Language games help

(A) to improve speech (B) to build structures

(C) to build vocabulary (D) to learn grammar
Assessment of broad learning behavioural outcomes is a feature of

(A) CCE (B) Peer Evaluation

(C) Formative Assessment (D)  Summative Assessment

Which one is not a characteristic of Peer Evaluation ?
(A) Effective monitoring (B) Metacognition

(C) Saves teacher’s time (D) Faster feedback
Cloze Test Evaluation was described by

(A) C.J. Dodson (B) Woods
(C) W.L. Taylor (D) Roberts Paul
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Passage (For Q. Nos. 46 to 52) :

The messenger had no idea what all this was about. If King Avinash meant to attack his
king’s fort then all was lost. For King Bahadur was old and weak. These days he spent most of
his time in prayer. After much thought the messenger decided on a plan, “Sir, [ do not know
why are you so angry,” he said. “All I know is that King Bahadur has gone mad. I cannot work
for him anymore. I had decided to the court and work elsewhere. If you will take me in [ will

gladly work for you, my lord.”

46. The synonym of ‘attack’ is
(A) war DD (B) dispute
(C) invade EE'T% (D) contlict

47. The synonym of ‘mad’ is
(A) sick (B) insane
(C) nervous (D) sensible

48. The antonym of ‘angry’ is
(A) sharp (B) infuriated
(C) calm (D) peace

49, The one word substitution for ‘old and weak® is
(A) infirm (B) sick
(C) humble (D) pohite

50. The correct noun form of *decide’ is
(A) decade (B) decided

(C) decision (D) deceive

51. The correct verb torm of “lost’ is

(A) loose (B) lose
(C) loss (D) lest
52, The correct spelling is
(A) patiritism (B) partritism
(C) patriotism (D) potriotism

P.T.O.
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(18)

Passage (For Q. Nos. 53 to 59) :

Being tree filled me with happiness. Now that my chains had been removed, I could see

PL-1

the capital city. Everyone was ordered to stay indoors in case I stepped on them and they got

crushed. The first building I saw as I stepped over the city wall was the Emperor’s palace. It was

charming just like a big doll’s house. I had to lic down to look inside and as the Empress came

to the window smiling at me, she gave me her hand to kiss.

53.

60.

Which part of speech is *Happiness™ ?
(A) Adjective (B) Noun
(C) Verb (DY Adverb

‘The Empress came to the window smiling at me.” Here ‘smiling’ 1s

(A) Noun (B) Verb
(C) Adjective (D)  Adverb

IR0
‘Being free filled me with happiness.” The sentence is in Eﬁ
(A) Present perfect (B) Past perfect
(C) Pastsimple (D)  Present simple

‘I had to lie down ...." The sentence is in

(A) Pastsimple (B) Present simple

(C) Past perfect (D) Present perfect

fean she gave me her hand to kiss.” In this sentence the determiner used is
(A) she (B) her

(C) to (D) me

‘It was charming just like a big doll’s house.’ In this sentence the determiner used 1s
(A) just (B) like
(C) a (D) big

‘Freest’ is the superlative degree of

(A) fire (B) freer

(Cy firer (D) free

The farmer fastened the bull tightly to the stake. The correct question for this is
(A) What did the farmer do ? (B) What does the farmer did ?

(C) Why did the farmer did ? (D)  Why does the tarmer did ?
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33.
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35.
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qreafie genyEd -
“37E ™ ° TSI |
(A) 378 @ 9 93Y: |
(C) ¥E ™ 993ME: |

(19)

s - 11
e -1

ar o A af= |
Fﬁm:ﬂmﬁ—qﬁ |

(B) 318« 9 vaa: |
(D) 318 cd 9 9ay |

“378 38 T | S AT aTe T % -

(A) a1 <d 3w | (B) BT |

(C) T ¢H: U | (D) W4T 39 39 |
g A -

(A) T U BANH 3 (B) o T BeAlH 3
(C) T s el g (D) & 94 BeATH AT
“@m:aﬂ:“l

T@rgaTe geAfmi H%a -

(A) & HIfereE: I8: | (B) Y HIfcIgrd: 8: |
() %m:aﬂﬂ (D) Eﬁﬁgm:ﬁgﬂ
Eﬁq%ﬁnﬂﬁiqmﬁlmf@ﬁmw_
(A) G (B) =wmifor

(C) el (D) wiufor
UrefArEtersfE: geuaugiea: A fafom aum 3uemy segr ?
(A) wrurffer (B) aefaamefafimn

(C)  weHAmRaf (D) HURHERMAT
TegatsreTe Hisa fafy: arafafy. sfa T a7

(A) Tavemumensfafa: (B) weaafafer:

(C) uTsheAfafe: (D) UTGATIRIATY:
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“HUT Hu) YA = WTYvR] 39TEfy 3Ny W@ -
(A) " e foreorer (B) Hepd v fvemre
(C) EEhaar ey (D) GeapawmT foreores
aTT-hIerery A= v faad -
(A) A HITH (B) W@ B
(C)  sTemT e (D) =& Frvem

HE AT U Hae e fore -

(A) TIHBTHH (B) m
(C) feerior (D) HreHrEil
frfafgay wrrfere wig wme wafa -

(A) Teenerwaay (B) TR
(C) TGHIEHA (D) ey

Tl T HI - ATV - TS - PITAHTE YeaTgH o I3 -
(A) wiRagerrliern (B) ferfgariieran
(C) THerearershriar (D) iR

1 i w1, sarfuehl, sareETiishl, Huagea fideaan = wafd ?

(A) SreATeRTaIET (B)  wmqurgdie
(C)  FEgfrian (D) avTeHeRTE
QUi BT fadee AT T -

(A) = (B) HeangH
(C) W (D) HUTHIH
IR el framfatorEm vaf -

(A)  STIRTH (B) T

(C) =ATHOT (D) whemy
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46.

47.

48,

49.

50.

51,

(21)

Frferaay arafea maren snuiee T < (46-50) THTEAT: —

m%sra‘g'gmﬁgﬁmﬁ | Tafauramiaatee: ammammnfy: s 3@ feafa J?ﬂéﬁ":
W aT: ey gfd wafdar: af= | s afeur aweatuy add | fagem fafimn s om
AT YA AT | WA TG TS Y, T qEed: YR 319ad | ST IRas
AT, dAmd e fgae Tsifaes 74 gonvd |

“ATEd: " A % A ?
(A) 3o — | (B) ToI-Hi:
(C) arie-af: (D) drE-a|f:

“HAT:" oA T e 7

(A) &9 (B) 48
Elnﬁg'
“FATTer”” $79d Wead: faea -
(A) 94 (B) wad
(C) =39 (D) =

“FrETRy” 3o 1 fefa: 7

(A) gt (B) =qut
(C) weadt (D)
AT TG TN add || e arel fasmorg feerd -
(A) wa= (B) TEWTHHY
(C) TREq (D) aad

frafafigan smfed marm snuiea swifafaa: s (51-55) Surea:

TARFAR TSR TerH ifed | e/ T Tl werre: safie: sta | e
e fratorentaret dieed s faetier defarer: arfy afear vafsr | 3w wraw Y -amn
ufagn | 7= qaen o nerandty T o ey “omi” At wrien sar fearsie |
ged 313 TR TSl |

“TEMTSA: " 003 oh: AH: 7

(A) &= (B) texfiyra:
(C) HHuTE: (D) T&m:
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60.

(22)

aa g it fe -

(A) wer+ud (B) ®+Ud
(C) ®+ud (D) ®g+0d

AT 3 faretme add -

(A) It (B) IFTeT

(C) WM (D) GG

~gefurert: 3ty afem: yafar | soafem e fasrsareg sifc -

(A) =y (B) waf

(C) =fehd: (D) efrh:

I TR T 7EAT: SAfHE: SR | 39 W@iigd Ue a1 -
(A) TJE—TTHR: (B) Wg-TIHI:

(C) TAIE-TTh: (D) @E-TThR:

“wre Wi wafa | areRfive e -awR uiEdad -

(A) HTaT WisH gt | (B) WA HISHY A= |

(C) Tl WISH =i | (D) HTdT 9o U= |

“44” Al T T forEa -

(A) SgeieR (B) SIgrTig

(C) e (D) =qEeTier

ARATYY “U” TeATEe 3feesrn: add —

(A) € 3,7, 30 (B) ¢, ¢, 3

(C) ¢, 3,31 (D) ¢ 3¢, 3

HEeheiA JTE1E Fobd —

“q T <\ w1

(A) T: T g wf=ay arres | (B) 9: fomm =g mfewy anmee |
(C) TA: frn e Af= aFes: | (D) 9 T w8 At nfvrsafa |
TP I Foed —

TSI T4 1 11 SO |

(A) % T agsafa | (B) 0T =% T HiA |
(C) F9: T Tersata | (D) T Trsd Werenty |
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(A) TeFHtITE O (B) Oq%Y GHH
(C) Fgda™ (D) foq v
‘Irfaa’ wrse ® 37 B
(A) 3 (B) 33
(C) 3H (D) =
ErE
‘TN 952 T Usha=H 2 : Eﬁ
(A) @i (B) gamefi
(C) el (D) Eardi
‘mefieHiE’ weg 1 wel aft fade 2
(A) WHSE + 37@ (B) WHISI + 3@
(C) wiigs + 3@ (D) wiiEs + FE
‘el e HY 2
(A) 419 (B) <¥
(C) <TeTh (D) "=+

freferfiga Tenmer & nuR T v W@ 82 W 86 T % YAl & I Eifw
Y a8 it ¢ 7 W, It T o 7w,
3c1e, Bt ! |ty =e, S o1 3T, " = |
i T8 A TSI 3
gt ferie Tt STrelT 3
i vty S fomam, s e feream foman,
- TS g, W $ita St i |
-7 gaie | iy g3
IE oW T I o 2, T8 o6 UaH I o B,
e facfia SR wehel, AHH @ 2 TR Hh |
g S 931 4 uTd § —
fpe it weht 3 3 & 1
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YA AT T BT HAT 18 AT ?

(A) 91 Tl § U E $B =AM H G H |
(B) @HS 6 Arefidie & %1 |

(C) eRHFIIH |

(D) e =i S0 & 1 |

TS TR AT B I F1 WA TSA L 7
(A) T I TYT TG & S 2 |

(B) W HTe 3R TS T9TE 61 8 A0 8 |
(C) TISF Tl HH 1 T 3T g A2 |

(D) W &1 faae T AM@r g | %%
frafafEa dfei o fraafFm d e died 2 ¢

(A) A ag i g3 | | (B) S-S TSt S |
(C) WTEH Hiud gt aiet | (D) TR ghi g |
IR ey S T 2

(A) wEpals &< | (B) dgwafm fa=d |

(C) A drerara i &=t | (D) <9 JeeuuH f&= |
74 v ¥ gera: afifa @

(A) FT %M | (B) gied @ fama |

(C) Wehfa o= | (D) &l forre wf |
N ITae &1 9e T8l 3

(A) H13TAH | (B) e -fagmw suar |
(C) Tersrmr 3qar | (D) YW YT |
fafafeada e g :

(A) T 9T Taa Wl Teaeh 31 T & |

(B) ATAZRI 1 212 Aiet <9i-ia & |

(C) feft = e fop # wrrge 7t St |

(D) HeF@ g 3 4R AR @l |

“anfe e F At 2 |7 G H B B

(A) I HH (B) FUIEH Hieh
(C)  fereror +ieh (D) TEH FIEH
‘ST =1 TS O A e W A

(A) BT MeH T e T TEaeh 3aUH Joidl & |

(B) @ & o1 i T T Bt |

(C) TUTEH safad it Jmerat a1 8 |

(D) HE9R | IE HR TE 2 |
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In the lines given below the literary device “Metaphor” 1s used in

(A)
(B)
(©)
(D)

A genre of drama based on human suffering and, mainly, the terrible or sorrowful events

There are 30 questions in all in this section,

(43)

SECTION-III
LANGUAGE-1I
ENGLISH

All questions are compulsory.

Betty Botter bought some butter.

As cold as ice.

A host of golden daffodils.

[t 15 the east, and J

uliet, the sun.

that befall main character is known as

(A)
(€)

Tragedy
[rony

(By Comedy
(D) Autobiography

A ‘Fable’ is an example of

(A) Rhyme (B) Short story
(C) Sonnet (D) None of these
My father swim very fast when he was young.
(A) <can (B may

(C) could (D) must

Choose the alternative which best expresses the meaning of idiom/phrase given below :

(A)
(B)
(€)
(D)

*To avoid talking about what is important’ the idiom/phrase which best expresses the

“No Pain No Gain”
You have to work

tfor what you want.

Wait for the right time.
Take care of your pains.
Do not harm others.

above meaning is

(A)
(C)

Hit the sack

Beat around the bush

(B Upinarms
(D) Sell like hot cakes

Choose the correct phonetic transcription for the given word : “Thin’

(A)
(&)

sz

fan/

(By /0m/
(D) /dei/
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72.

74.

76.

(44) PL-1

Which of the following contains the same vowel sound ?
(A) tell —bell —cell (B) know —now — bow
(C) put—cut— cute (D) All of these

Find out the word which begins with different sound from other given words :
(A) High (B) Hike
(C) Hire (D) Beat

Choose the correct phonetic transcription for the underlined sound of the word : Call
(A) /kaM/ (B) /ka:l/
(C) Jkeel/ (D) /kaeml/

Which statement is not correct about communicative approach ?
(A) It is practical in use.

(B) [Itis situational, meaningful and self-rewarding.

(C) Itdevelops the speech ability.

(ID) It s teachers centered approach.

In structural approach the word ‘structure’ relates to the structure whereas ‘approach’
stands for

(A) Going away (B) Coming near Eﬁ

(C) Sincere (D) Intelligent Of-

The teaching which is needed for the students who are in general backward in studies and
fail in one subject :

(A) Remedial teaching (B) Advance teaching
(C) Classroom teaching (D) None of these

The process of finding out the extent to which the desired changes have taken place in the
pupils

{A) On line lectures (B) Evaluation

(C) Co-curricular activities (D) All of these

An important part of any evaluation in which the teacher should prepare a record sheet for
each student indicating the different skills to be tested is

(A) Record keeping (B) Notice book
(C) Class teacher diary (D) Monthly attendance

Which one is not a type of digital porttolio ?

(A) Developmental (B) Reflective
(C) Representational (D) Occupational

https://www.pygonline.com


https://www.pyqonline.com/

PL-1 (45) A

Passage (For Q. Nos. 77 - 83)

Non-biodegradable plastic is one of the prime targets of environmentalists across the
world, but, we, too can make a difference — by spurning that plastic bag for cloth, by buying our
acrated water in glass bottles instead of plastic, by demanding glass milk bottles instead of
plastic pouches, by using that sheet of paper on both sides, by recycling vegetable waste and tea
leaves as manure. The media can also play an enormously significant role in this respect. It is
not difficult to make a beginning; it is far more taxing to sustain it. But the payofts of sparing
just a little thought to where our waste goes, promise to make it worthwhile. Sometimes you see,
waste can kill.

77. Onc of the prime targets of environmentalists across the world non-biodegradable
plastic.
(A) are (B) s
(C) was (D) werc
78. We should carry cloth bag plastic bag.
(A) despite (B) inspite of
(C) instead of (D) as
79. Common man media can play a significant role in this respect.
(A) whereas (B) but
(C) aswell as (D) though
80. Vegetable waste and tea leaves recycled into manure.,
(A) was (B) is
(C) canbe (D) if E%
e
81. Small efforts can a big difference in reducing plastic waste.
(A) get (B) make
(C) made (D) take

82. The most suitable title for the passage 1s

(A) The urban life (B) Waste and media
(C) Waste management (D) Pollutants
83. In order to reduce plastic waste, plastic pouches can be by glass milk bottles.
(A) used (B) replaced
(C) stored (D) none of these
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86.
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88.

89.

90.

(46)

“Slithery, slidery, scaly old snake.”

The literary device used in the above line is

(A) Simile
(C) Alliteration

The literary device present in the line “I am as quick as a cheetah™, 18

(A) Satire
(C) Hyperbole

(B)Y Metaphor
(D) TIrony

(B) Alliteration
(D) Simile

“Upon a nice mid-spring day

Let’s take a look at nature’s way

Breathe the scent of nice fresh air

Feel the brecze within your hair.”

The rhyme scheme of the above line 1s :

(A) AABB
(C) AABA

“All the little corn flakes were so excited,

They were getting to come out and play.”

(B) ABAB
(D) ABAA

5
22

What is personified in the above lines ?

(A) All

(C) corn flakes

(B} so excited
(D) All of these

A mournful poem, typically a lament for the dead is called

(A) Drama
(C) Sonnet

(B) Comedy
(D) Elegy

PL-1

The literary term used for a poem of fourteen lines using any of a number of formal rhyme

schemes is
(A) Short story
(C) Elegy

(B) Sonnet
(D) Allusion

“Who knows why the cold wind blows !

The literary device used in the above line is

(A) Personification
(C) Assonance

(B) Hyperbole
(D) None of these
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47)

@S - |11

WIS - 11

&P

373 oo s |t |
Tl YvHT: THTHAT: |

“371" geI gy IERUEITEIE -
(A) e=irEd, (B) &3y
(C) Huaard (D) feen
HedF: E[Uﬁ: Hﬁ - ——
(A) q1d4 (B) 899H e
(€) 1%9Y (D) 37
“3TE T TEATH | $eOA AT areATiEn $ed -
(A) o 51 Tvafy (B) o= AT w9y
(C) & = T (D) 318 741 Ty
“H: Tl JUTHIA | ST S —
(A) 9: 7% yomfd (B) ®: TT&d Wumfd
(C) : TR yumid (D) §: 6 YAy
g o Teae zenfy | 9 wwivad -
(A) 378 a1 Feme ooy | (B) 3@ &: Faawe a1awem |
(C) 378 &I Femmes wranfiy | (D) 8 @I: Temruen smg |
AL ... vaf< | aqfaarer e @ |
(A) T (B) gr:
(C) iiEm (D) riom:
TTSITEATTIEAT foreqmeyr: vt Seahirq ™ yafd @ 7
(A) ST (B)  hIM-TEERTICRY
(C) Taamsmeprery (D) EHTECAEEHRIT W
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(48) PL-
“HEHANTTITEE Huegrahtfatnat am famfe 2
(A) Afafafy (B) weagfafy:
(C) SRt - Fanefafi: (D) foreraomersfafy:

ATy Afkaste wiosafa araq fraew garared g 7 wiesfa 10 & fiefioes s
&ifin frurg” seafGm e A feafiae 2

(A) frrerdiem (B) aUeSHERIH

(C) THEEEH (D) HAFRETEEI

wrpatsemt ufd seEy Fgemee freern Fflar -
(A) ITSATAHE ISAHMHT G (B) Tafau-mfefeys -nfafasimmmiemg
(C) HEpad: fR<amRmIaeson (D) SisTuegrAmeraTy

TEpafve wfETsha= (F10h) H1EE 94d - -
(A) FTIET (B)  SeaETes E?’l-;
(C) FHEy=ETIH (D) fermfaa
TIGAGEAHE 791 higefl QI ?

(A) Farepmon ArraTgaTe (B) TREMI ATATIETH

(C) ATeraRITCoT Araarare (D) STAHT AFTATTER
TR JeaTg- ST Wal —

(A) SHTCHT: (B)  STETcHI:

(C) Toramen. (D) IrFa-fafvad. wagn
SUARTCH 10 I<ReRT Higel werd 7

(A) SEERIERE (B)  hETEUHER

(C) FAATIRETTARH (D)  IUHTETRRGRIERY,

T (TR Iy Fatrenierey 3fd -

(A) CIGRITE (B)  THURhIYTT

(C) HEvEhITaq (D) Uiy

faeTEregA™, S9HI, JEATSEITN, UTSaaTERIH], RN P8 &: faf: Jewest
wafd ?

(A) ArRfafer: (B) eamATafy:

(C) wcaafafa: (D) wrgAfafa:
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iferfiad smufad mersmm snuTide ST (77-81) THTER: —
1 <hfEifyeT o =it et sree | FrfeEEar: @ sifasre aq e g s e
U9 T | 3 SR TesM: gHTs 3 faar @ S arysEn sSfEhaT raa: |
3 Ueh: A8: Y= 919 4ift feafd 9 |

77.  “uEASiaT” o W faufea: ¢

(A) et (B) et
(C) Tt (D) wst

78. UG §oA4A & T G: Y

(A) FadIcId: (B) <9cd:
(C) aqIa: (D) WHIIEE:

79, “foam” oum &: IEl: ¢
(A) fog (B) Iq
(C) 3| (D) fa

80, “eEAMEdn:" 304 af-ufaese: sife -

(A) Tifefy + 3w (B) eifiga+ 3uga:

(C) <R + FAUR: (D) THET + g
81, “TF Ueh: ¥B: Uam=: A it Femfa =1 1 3 @Rt fersrsame fopm 7

(A) (B) #s:

(C) h: (D) nft

frafaftgd yeren e Frfear: we - (82-86) |wTea: -
HEAT TATH] TH-A e g ,,E,&El

e afemr Premifaed: Ao, | B
w1t geprareterdn <l gl ddm
sfteron fogqna =i qemg Fuafiam ||

82, NfAH vk foh e W 7
(A) wngAfashifean (B) am=afaershl
(C) wricrt (D) H=eBHI
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"m@jﬁ:"muﬁﬁ—ﬁ%ﬁa: STFE-H -
(A) ot + <freyfi: + pn (B) e + wyHfo:
(C) sfeffeg: + ot (D) #fidie + yfiy + 1t
“HZUI eI h: WHTE: 7
(A) deges: (B) sgsife:
(C) g (D) &=
“ELl $eH h: Wedd: ?
(A) g (B) d@=uq
(C) ddaq (D) 3=l
(A) dfeergn (B) #fifergy
(C) TgEhieTsH (D) Tefergy

ExE
“44” 3HT HEAT G Iec ferad — R
(A) SgecaTi (B) Sqecarizma
(C) =grarig (D) EgFEIeTiE
“TW: WTd:(7:30) areq fornerd meafa | Taifend wue awpaa foraa -
(A) HqTEHwETE (B) UIEHwaTeH
(C) ardEware (D) UIGHTZETEA
TR ST=avii: Hid af< ?
(A) <ged (B) e
(C) T (D) Tehred

“TF Tl § ¥[G BT 8 (" 3 T Heshdrag: e -
(A) W Hearq geafd (B) T+ g At
(C) u dearq Ipeafd (D) u4: gedd yeafa

https://www.pygonline.com

PL-1


https://www.pyqonline.com/

PL-1 (51)
I - ol
1-gbJ

J}Ji

-

-
B b Le G ume Ll Do £ s tiv $5030 2 FE U

Ce G e Jb s F BT a7 b5 ke g sl
-~ (D) 5 (CO) b (B) I (A)

fe u".'.f;.:.mi.:.’[_. (_E'L:JJ(J: i L =5 J__)c. S pL LUF by sl
Sl by ety P AL T (A)

e bl L bl 5301 6 kg 0T B S S UsinT (B)

Ul alF ey 2 el (0

e Qb s SuE Suial g L Wt L sk (D)

ZL’U{ILQ:J_E.?J.C-’

A1 (D) ¥ (©  degTSw (B) Jl,?uﬂ‘ (A)

te HJe S e S

duedl @ LFE (© Fi (B) At ()

U Ln $A e

eI e P on

BN 1G - § NO- TP P

PN - PN P N T P St ()
- b VO PR P, _zlrﬁ% = & (D)

o i e 7 e S ke

S () ' Q) ' (B) Lo

- SFSEE U G L s S

S e SE G F= 3L (B) e dFe 2 (A)
ke SJuse (D) S S e (©

https://www.pygonline.com

A

61

62

63

.64

65

.66

67


https://www.pyqonline.com/

PL-1 (52)

BV T (0L T P2 1t ) Py

SA e o (B) SA e SB (A

G edi (D) Az F (©

e L gehl sy J-‘E/j&”? Sl Si s

Suedi @ 2 (©) S ®) Sk (A
Cr il & el e s e & Gk 200
t@:?hflf'glpyﬁh)bﬁw (B) :;?.’K_‘.Léa.ywiﬁu‘»&;; (A)
twéa_ﬁ‘-f‘}"f (D) W §iad 28 (©

Co bl S e S e AL A ey Sk LA

u,&.,,r‘*‘_*r‘g (B) u,:.a,._,;—“,;uu (A)

S&r o Gl 20 (D) S (©

et SEFETEN LIt g 2 Ly 2 e b
AN I e Sl (B) £ (A)

G Fele? S S Py
- i/ fﬂ;U WL ok oy Sk 2y (A)
< FIr K Sl w5 1 (B)

e Pk n SIS (©)

- t'fu:-ﬂj;g;. é‘:’ J(‘w%’-;i ZJ1 (D)

o el S s

LS S F R ST (A

cr€usk. f sl Usn (B)

s s &2 AL Sl S JFT(©)

-~ bl b H e L enfdd £ & s (D)

J} |J‘9f\/£ .C:-u ﬁq;fﬁ/”

Sedrea b (B) —,f?Uubil-Z (A)
“e e o (D) “edzaed (©

https://www.pygonline.com

A

.69

J0

1

g2

73

74


https://www.pyqonline.com/

PL-1 (53)
. 3 -'"'/ - - el . ¥F
MEE SN U U f;uﬁff;&gﬁr_wfiéﬂiﬁu d otz
-. l:'ll-:'/wj;

J.‘.’“J)}_.,tur (D) W (O ey B OF 0 (A

A

16

o L@ TD e e £ oy S s

= .,.-r'l*"l.‘L ff&-fusfg,' 2 il cj');lf.; Pl R U L_EI.L'"-';U:, £
o smtgm 5 B L L L Tnd ge &y hSei Fy o A
J—‘-J.;' 4_5;_;/‘?!{ SHE B2 IS W e SRy u""'*-‘"
A fd ol Sl GIUL L a0 I vt U e G e G2 &
-&.‘;"5 erdul§
GE (B LZiZT ()
& &2 (D) s ()

. 4
T b Ty r’x"” l:rr_‘- “

?;:'_ sl l_{(r'_. sl emkl V’J{ ya

Lok & Lzl (B) e G faler (A)
l:/r’g_,l.ﬂ."dﬂ: £—...J (D) I:Tﬁ,;_ J;_fj. L ﬁ;__ ()

@I S U J L F B

Sl (B) £2 55 (A)
sy &y (D) syl (©)

Co E R LG ALK A JT sl U s QI B
L (D) Jo (©) &L (B) S

X ’ r P P * ” Z 2 ¥
e J”,J.‘.'.-L_" ST s U = e S u"z’{_'g;_:)h; JEeJ”

S O % (© 25 (B) SE (A

https://www.pygonline.com

g7

78

.79

80

81


https://www.pyqonline.com/

PL-1 (54)

A

ez L (87680 et o s E Loy ST

£ x JP—‘:J’;;.;,%' - Fﬁdﬁlﬂf{-—&ﬁnﬂ

4’?—«?}“|’—$J:”'=-u?? - (?FJJ"‘.”:(?!'/_.A_@:-{I
AT Gy I (R (P O P ARSI LT,

%ﬂj&ﬁiiuﬂjﬁ\j‘: - JE pf;ﬁréuﬁgjﬂ;

Ce W Uit L P e 2 U Pr A U e FEA

Jdier () Lize S (© JE o (B) Sl (A)
UG LU e 2 P i i
RN

a4 (B)

et lbobl i e S E e S L (©)
3 o L Uk el elilond (D)

iU e S5 b e s - fe A e P

-

T J£ (© £ ® Fr o (A)
c SR AU S U e - e QiU
Lde (D) == (0) =f (B) S (A)

frdiche s - frddde Fh

‘e S g SAAL e
el ) s © o ®  =For o
Ceslrfa Al e AUl - o oF W) SEAt
=4 (D) £ (© Ly ®) (A
Se e et b ATui”

e =& (B) b8 Sl bl 2r kb SU L (A)

te 2 FU3L (D) LT ()

P ortl g_;(.-f;f v’

14 (D) Z () A5 (B) Sl (A)
- |TREIEIESG 9 § OV

PR & (©) 2 (B) ¥ (A)

https://www.pygonline.com

82

84

85

86

87

89

90


https://www.pyqonline.com/

PL-

61.

62.

63.

64.

65.

66.

67.

68.

(35)

Wug - [11
HMET - 11
T
Hd 30 gard AR |
AT AT H0T T A |
37eg dfee U 788 SIS AT §Ta | 378 -
(A) TR (B) wfa
(C) wvg (D) #fE
gientl” Tua it 5 geremt 12 -
(A) R (B) U
(C) THU (D) S

S e eite 1 TR 5 -

(A) 2T (B)
(C) wdt (D)
wd H agf @ fafas of -

(A) HHEEM (B)
(C) fu=ia (D)
et feparg ufean | firone g -

(A) se] dTho (B)
(C) hsc] AT (D)
fawd 32 s fawme a2 -

(A) T glevlt Bifl 31 | (B)
(C) 7=y feai amg | (D)
Teraradt frama amg -

(A) $H AH (B)
(C) T awfiE (D)
w1 fergmr 1 afzfe Siea 72 -

(A) gEW (B)
(C) TIeg1gY] (D)

e JAEdl
hgc] Alhd

Oigd afe =r et a1 |
gfeil et g3t IR |

FHEY
9] 913

https://www.pygonline.com


https://www.pyqonline.com/

69.

70.

71,

72.

73.

74.

75.

76.

(56) PL-

e i T e s T S R e

(A) foreht (B)

(C) fedt (D) foarh e foreh

IR F afgart seema it o o ot -

(A) TEATEHA 9 (B) Tw@md

(C) &eroftar | (D) g a1

HeATeh JiI SEHTE Srereh it qut wifeerra 2 agefa < T areqi ufse st omg et o 1
TR IICHTT 3178 — ——
(A) SUfae (B) Hi.H.TH E%
(C) TTgsheTd (D) #H

Azl faafoer 1 afrewfa @ famargo ard fou of -

(A) =@ (B) <hgmft

(C) hfaar (D) HCH

i femerata @ gzt sifte greur o < @l 3118 -

(A) Igeh atient (B) o3 = il

(C) wfid =i adtenl (D) S AW atieht

o Jr=- | -

(A) o firgehe) (B) €N i @I hi=d @el
(C) SR SHYg g (D) R Heh vee

TR wEh 731t forgm s Sifim =t o s2va @ = o

(A) GATCHS (B) I@aY

(C) oA (D) g

wfe il SR o aEro 7 neg el o -

(A) U S HIEH S (B) feaur 3 wnem swie

(C) TegRY 3 |J1ee S’iv (D) femor guu 3 wed sl

https://www.pygonline.com


https://www.pyqonline.com/

PL-

(37)

afen 2t wei gamets s e fgan (g 77 @1 81)

T I TR | I S g Gt g St sl ot a2 | figfier S gt S A g
w9 F I @ S HA1 5 3z | T Sfie= S 39 3 39 I o | T i 3 U wat s
GEGId W 3R | e SR T g s diehisr i fasra 7 fom @1, aef g afdsf smeeiy,
WA W SRR 13 Je-9a1 3R U Al o wal s e waa w@gl w0 U nsh § i
FIA AAfF Fraqi @ faeh saardt 3=m w1 2% T 00 3% HA | I8 71 wha geh wita, few
U e et 511 Tt Fereprar ofiei ferat | - =fe 1 wrafr Samfr € fopamafa s sifgema S soere
fee arfefirm it nfeg R | 37 1 wgfe @, fta, ot ¥ arer it g fo ot afE g0 e w0
T 37eTT- 316l T S 31E Eifde for o | & HfE ek o gefiar St et ww s et agefiar g
fardiar % greaters @t anfef : e, ¥, ofas, o, oo, wifaa, goft amiiz |

77.

78.

79.

80.

81.

fem gt St 37am a2 -
(A) U %] (B) I
(C) T = (D) 3 H
EE
T T smivER A gsgE AR | 5‘3‘%
(A) T (B) W1
() P (D) Hr@
FET T S AT 3B -
(A) g (B) =
(C) g (D) gl
guliat S 8 AT ar aws ATiEf -
(A) w-Tg (B) T — e
(C) "W —Td® (D) I — e
(A) e it Seras @ (B) Sftea 3 mafa @
(C) Sfte Sft ot 4 (D) ofte" & 3um o

https://www.pygonline.com


https://www.pyqonline.com/

82.

83.

84.

85.

86.

87.

88.

89,

90.

(58) PL-1
&f3 Teaet S Ut gaett s stame feal (gare 82 @1 86)

31t washm U foren @ ¢ gfn ardierd,

Zeel o AT o are ardi faft @ ridiendt |

= wiferm sl f&a W@el 7 i Aved $ T,

i € s s s qeht e |

atftar § § a8t 7] anfz fer gftewa st w6y amam,

o) T Y Feal @ 37 e TEierHi |

T TeATs gAd |1 IfEst afse o e |

fem shferan it 37arg 18 -

(A) feen (B) HEHR (C) T®E (D) SATEd

TSR S WA TG - f—
(A) HeH H A (B) TowmEman S
(C) 3nfR (D) =

3 T o1 ufgsi afee d werEt |

(A) TgTd (B) et (C) =BfiEmd (D) @R
“HAl FghR S SATAT o0 Tel el a9 |” 4 fige 1 s a8 -

(A) dvdE (B) ®uh (C) asdmgh (D) Harfern
fet shfern 1 wheft forem o g3 -

(A) TEdssh  (B) femmsst () fFrwes S (D) Tehal i1
W e 3 el sngaer § wiesl srat w@i e -

(A) = (B) & (S (D) @
“eft weft fow @ aerE 3TR -

(A) Taam (B) STUTRITS (C) G (D) fele

= St faw amg -
(A) gl (B) el (C) e (D) =i
wef Sl g a2 -
(A) # (B) #al (C) T (D) Tl

https://www.pygonline.com


https://www.pyqonline.com/

PL-1

6l.

63.

64.

65.

66.

67.

68.

(59) A
us — 111
g — 11
st
for vz 9 45 30 Yws 35 |
A3 YFS J96 7gdt I3 |
(A) efasar (B) u&&de ~
(C) =fssr (D) ST ]
2
(A) MHEE, MHE= (B) fedsTwada=, fHEgd &2
(C) FTLSIIS =, HAE= (D) I[}AI-TIAEE, HHSR

193 Huw & 5@ ne &t g o a2 ug 378 I G 28 It ve-fae ISt o<, Brugsed
I TS

(A) HYURYd yz&= (B) fordegduzas=
(C) YT 9d UFs'= D) ERIEECRIERE

frogrmee far sl T ugse mee dficft o s S Or feime s faar v T ¢

(A) yfoHeea fenne (B) uzsl faime
(C) wfimwreaa femme (D) faraega femmes
Urreft s &9 femfua fam Jog €3 fegge 7w

(A) HESUUd3 (B) TR YU 3

(C) Su=gUug 3 (D) Gudes fEaruma 3
87 It U3 ST Irder Hi 31T o FTuR U Hues tea d
(A) 3Fd (B) 37

(C) 33 (D) A&
yafent Gua feve fadft 9

(A) &% faftT (B) ya3& fafty

(C) wrafsa fedta (D) wf3-mofsa fedta

At fitfpn 2 7og st At Qum St 9= 99 ¢

(A) 3Tt 3 Qugmamsfua fitfum o ydo st agar ovdter |
(B) SEH fifemrm wifmmat o veas 33 8t T |

(C) Mt 3 Qumrasfia fiffimr o yda aosT ofler d |
(D) 3Tt 3 Querasfua fifr S aet Sz 50T T 1

https://www.pygonline.com


https://www.pyqonline.com/

69,

70.

71.

72

73.

74.

75.

76.

(60) PL-1

e eTREfed wIE J

(A) BT fE0HI U TS €& | (B) &7 fotH3 QU a3 7357 |
(C) Haduse | (D) ¥E& A IS |

He @96 I femmsT 3

(A) feamefiz Ire-wfpis HAFaT | (B) e wr- w3 95 395" |
(C) d¥3-I3dTH& IS | (D) Gt 3 HE wie™ T 298 FJ&T |

feudt miardt & wo I W 1SS fast wrem i3, wigg 9fe ags & fafonr fam =98 »ifts
uccing

A) Sfizws (B) dfezTard
(C) 3adig (D) WaTws
‘Ao ans’ fea ffimr o Gen s - E%
(A) fefonradhn 39 Fes &t gt @3is a9a7 | [

(B) wJE o< I35 <1 GazT G0E a9aT |
(C) TISITEHSTE S AHST o1 WargT feafiz a9a |
(D) Cudazs Ag dt

g fifepu f39 Aofed de8 S TS HUS O Fft e 98 ¢
(A) &, 3318 (B) &0, fgza
(C) 9732, 5an (D) I, gae

ge [I3a7 § I3 agd Yootz gas @B uzg §ft afie gs
(A) gfees 9 (B) whfizetmay
(C) T93&33 (D) f&sGx 893

“Has f&9 I8 fefonradt © feegmg ufgeazs © Hdu ffo Yt © Hass 3 Bast & fenrfumr
35 <t Yfafonr § usTas afde 35 1" feg aas fan feses o d
(A) I=ES (B) =3IGs

=

(C) wyITee (D) # He wiF
It S e’ S wiosa aet 3 fenaraydea &2 fot : - yms fan udtfmr o sua T

(A) Tegamafua udifm (B) =A3fans udifimr
(C) ygs ydtfomr (D) St A

https://www.pygonline.com


https://www.pyqonline.com/

PL-1 (61)
(77-81) J& &g Ug uF d yrs 699 77 381 I ¢ §3a fel .

HIYTHT & T3 2 A8 Wy {29 §3H 1Y fadeft arfen & wirfimr g 1 ug »iff wiug o 28
WIAS, uTgEd OF &9 wig 79 fea-gn & uess "I 8d J€ 77 | a9 & qeds J Pl vga ©
gfge-rfos Gar fiF1 | WY & &7 3293 & wufi & AT § | 3993 &5 23273 It fanrad farrdht
T HYY J | aod3 IHe ft Sfewres gfdA 9, A B fanmugT yms gt 9 1 g, v s dles v
W I& | G993 &8 HY' TH3d et 99 a1 I Faer | AdlT &t "Afge gadt &t & diw 7 | fiedft foa
T dt st 9 | 999 = e T T fa wg 653 O fiied &3 9% vk 7%, a1 37 Snms wemer
e nrft AH 3 ufost ft gdte 3 g9 g9 A=t |

ExmE
77. €3ud muv o fleadt new 9 E@‘ﬁ
(A) #&H (B) feam
(C) Ue=g (D) fezm
78. TfenEs T AWSIES HES 9 ¢
(A) =t (B) fonrg
(C) dfgaes (D) a3
79. ‘H'3 HEY I HIHIEY He IS ¢
(A) WI3,HIg (B) ¥4,3W
(C) w43, fags3 (D) fi3, miwe
80. ‘T3 wuw v f8ar ves .
(A) wJIE (B) <H3
(C) Wre (D) dr3g

81. ‘U= WYY T HISYA UL ¢
(A) w9 (B) ==t
(C) T&I" (D) IAwTZ

(82-85) Ja feu Ffe-cc S ug I yo 9982385 AT G v : -
e Jgd B8 v7< |
ST HT oy 772 |
TGRS J =3 feu g,
TAHH A A= |
Y FHtE T2 |

https://www.pygonline.com


https://www.pyqonline.com/

(62) PL-1

Ffe-ge ff9 far e dt st Im It T 2
(A) dyet (B) @37
(C) 3 (D) =gt

Sudars arfe-A3g & yHar 129 fan Pt -Yfiar @ faag Ifenr J

(A) Ha—giw (B) &g
(C) WAT—4§ (D) 3t —u89

Sy HEe I dtg=ed 2
(A) &dd (B) ¥HIIdn
(C) #&3 (D) =fows

feg Ffe-fevg fan afe-u o i 7

(A) =T (B) =9

(C) HIEH (D) fomr B
o

gt ag 29 6, o, v, fad fard =aa 75

(A) fewivs (B) o=ddr &uft

(C) foninsza=s (D) W=FTTA

'8’ I8 & TIEHET ¢ faw <gar f&w S famr J

(A) <=gar (B) &<=0& =9

(C) 9=dar (D) WY =gar

Uardt g fenirags &9 fds sarmda a& 2

(A) fds (B) &

(C) «H (D) U

vty Afqordaerd:

(A) ZeInigg (B) ¥3< # HUa3 »iyg

(C) &g (D) 9= g
TR-3, w3, 51, 9G93, nee At f oot Qusmr s s Adfuz 9%

(A) W=t (B) Sardt
(C) Wt (D) gt

https://www.pygonline.com


https://www.pyqonline.com/

PL-1 (63)

s — I
AUNL — T
eyRIdl

L ASHL A 30 WAL 5.
€35 WAL vl 2AMAL 52 [Frdid 5.

61. i3, L, WAL AL UCEL 5L USIRAL AU LURIA 5 ¢
(A)  Gerl (B) =wesdpll
(C) B wApll (D) [rulazivel »ea

62, AlRl-uniall s uRon e s R Al e 2RR 5 8 7

(A) @il (B) <UL
(C) [Hedl 245301 (D) A

63. wielueul A 2A(GeGAAl . —
(A) Riauam (B) Wl Eﬁ
(C) = (D)  wildem

64, HREL1 20l SHLs1ea [z 12 58 ugla vz ol s ¢
(A) -l vsld (B)  2loli ugld
(C) el vgld (D) suusld

65.  wlvisHL el WicalEd sza w2 su1 slael Guadl s ¢
(A)  Yedlsrul sluen (B) [reultnpA slued
(C)  wselld Blaie (D) SLML 5l

66. 52 vlRAUA HUNsL W sl BHR” ARl WL ATAAHL 241 55 9

(A) Ziad Bzl (B) cueudr2

(C) RQudRAl (D) ¥Rl
67.  AlRiAmizl 53 AleiA BRI 1A S T

(A) ¥y (B) 2J=8182

(C)  dcMlAust (D) USRS

68.  AUUAAL HEAUISA HI2 Gub(l AU 5,
(A) SHHIUES (B) lsayRds
(C) Gzauz wal (D) [amfre e

https://www.pygonline.com


https://www.pyqonline.com/

A (64) PL-1

69. ARl BUEL WEARAS ABEL 54 B ¢
(A)  Huyw 20l dlg A=A,
(B)  [GzuellAlAl uova el [As14 53 dall MisusH.

(C)  [arualliiA oyl el Hea3Y 21 dd, —_—
(D) igRes sl S0l 28 dd, Eﬁ
70. [R5l 530 4L SIS BT HIAL Sl o35 BIRL MU & ¢

(A)  dHUrsal (B) awilzl
(C) vdue (D) M&td

71, Al 58 e ldAl Bualol auszel [Ei1Eie W2 szl 2d 6 7
(A)  sa-uul vgl (B)  MAIR ugld
(C) - sld (D) A= vgld

72, sluel uZlEs sUUZLL GroRl 2SI, el EREIH £ Ad A Al WAL dL dA 3 s2a12L 5€L

USIL 7
(A) UL s8] (B) =l 112l
(C) [aa-la sa2l (D) iicHezdl sHiZl

73, el USR-AL WAL vellod s8] il [Eaa-ludl, wHeieiddl viq wirslladl v 26 6 7
(A) 251 Bz R (B) axqasil ual
(C)  [Aoticus wal (D) GuRisd v

74, AR AlHA 2ACEAGAAL AL SLAL A3 2L 2L 7
(A) [0t (B) =AlcHS2L
(C)  AdE A (D) M-l

75, RUOWHL ULl RO ol (denellol auid szl Rifs ele 5316 o salddl suehs- g séa ¢

(A) MDA (B) =ylail
(C) =tdad (D) RsrBist

76,  CUMIAL 2CEI-, W B0 531 205 A W2 WonsEnA 58 U 2teallis ugld 2uaier s3al ?
(A)  aseeed 2l (B) [Folat @vid
(C) ®irg@mid (D) AlE

https://www.pygonline.com


https://www.pyqonline.com/

PL-1 (65) A

ALRAAL ABULUAL AR WS 2L 77 2L T9AL WAlA AL :

iRl RAle, UMY i 0% A5 el U W 5. GrRIIRA o sHoTHill £3 szl
3R 15, o WIZ WHIY A Al 3% 8. UEL DAL WG 2 ar-d Herd 21 A=, HéaHAL o
Al HOAAAL 23 U5 53l MO ARIARA AUl HI2 555 SRAEIRAL USAML UL 2 DA, 55510
et 2, HRRIELA 2L 2USE] 1 20 dl o AlSL SRRUR 53l $33L Al WAL 22 dsen
2ot Mot o s oAl

77, el 2l 3l Gl xS ¢

(A) XU SIUEL AL 55, (B) =izl [Msid aus .

(C)  RI%rf Melrl 21U 65 (D) 20grd Ales M- A .
78, ‘dsew’Hl AU gl sl

(A) -+ 56U (B) HH + 584

(C) AUH + 564 (D) U+ 564

FaE
e

79, Gur- s ARl sy 2ilds 2l usia ¢

(A) SRR ePudl (B)  G{wId1z B{UALEL
(C) GBI QY (D) urilis man
80. ‘U 51U AL S U ¢ AL Bl UERA UAAIN S 7
(A)  2AS AW (B) A&t WA
(€) =B udm (D) &<is ud-n
81. ‘il wu2el U il el 04l Qs (gt AlRwill 54 6 ¢
(A) dxel (B) AR
(C)  2uedl (D) el
82, Guz, ld, 475, £3, UMM ViR 204 sl Baulbziaa & ¢
(A) RUALIRS (B) =lass
(C)  UHAAUS (D) RS
83,  ~(lRi-umizl su1 s wes Buapl avial s ¢
(A) uzsld (B) AL
(C)  uzeal (D) aElks
84,  -{Ri-ML2l 55 AUsll ASAUAML o WA B ¢
(A)  anwil (B)  slalalal
(C) ML (D) A9l
85.  GUMIML 526115 UCETHL ABLEIM A HIZ DURLAL Bt 2] séa ¢
(A)  2edldR™ (B) il Ragr
(C) uzlrE (D) A g

https://www.pygonline.com


https://www.pyqonline.com/

86.

87.

88.

89.

90.

(66)

U AL 581 5l QB e Al Bl A2 s IR IRIL " AURHL AL U5 Al

(A)  Gorural 2aean (B)  3aon WALl e
(C)  —AUHADIL 2 (D) 2Pl v

Al A e 52 . Al Rl s usk © 7
(A) (A=l A (B) Ay dlsd
(C)  usuel disy (D) sl A

"dlaz’ 2eeAl g eridl wE @il sa s ¢
(A) &l (B) il
(C) HcUR (D) <M

12 AR UELA AR WA 24V 89 211 90 4xll-l Bz @l :
£5ct HOMRL A 550t WL,
Sl il sl ¢
QA A LRAULHNE,
LS HictiAl 54l ¢
Rl HORL, RWSL HOEL,
sl MUl 541 ? o
AL, Y3 A ARLHO, Eﬁ
AL AL L ¢
YR, U A Wld o,
2§51 AL 4L 7
Az G2 e, detedl
el Hiedl sl ¢

HielAL 2650 MR L [dRud 20l ¢

(A) ¥, died, Wila-l (B) 215 o7R G-l

(C)  =Rell 24 2€lHL (D) Ul A 9zov-dl

‘OUIR G2 W, Sl el Ml S 27 AUSUL W UCE AL USRALES ¢
(A) dcd¥ (B) dgMa

(C) 2ol (D) =Rl

https://www.pygonline.com


https://www.pyqonline.com/

PL-1 (67) A

SECTION-IV /EUS - IV

MATHEMATICS / TTToTId

There are 30 questions in all in this section.
All questions are compulsory.
TS H A 30 T E |
oft gy afad € |

91.  Which of the following is the correct Prime factors of number 420 ?

(A) 2Zx2xT7x15 (B) 2x2x5x2l
(C) 2x6x5x7 (D) 2x2=x3x5x%x7
Frafafea @ @ == @ @@ 420 F1 T 9= PREE g ?

=
(A) 2x2xT7x15 (B) 2x2x5x2l E%
(C) 2x6x5x%x7 (D) 2x2x3x5x7

92. LCM of any two numbers is 60 and HCF of them 1s 5. Which of the following are those

numbers 7

(A) 20,30 (B) 10,30

(C) 15,20 (D) 15,40

foo-al @1 w@na *1 wgan qEIEd 60 3 v AeoW @HmMdn® S B, @ fefafaa § @ a3
HE A € &l 2

(A) 20,30 (B) 10,30

(C) 15,20 (D) 15,40

93. Ifa Consequent of ratio 5 : 7 is 35, then what will be Antecedent ?
(A) 25 (B) 36
(C) 45 (D) 49
A U A 5 : 7 1 WUE 35 7, A1 351 TAUE 1 F ?
(A) 25 (B) 36
(C) 45 (D) 49
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4 men can complete a work in 20 days, then 10 men will complete the same work in how

many days ?
(A) 2 days (B) 8days
(C) 12 days (D) 50 days

4 31reft wh S i 20 fe 1 qu &, 4 10 serdt 36 wm i e fo o gt 0
Ay 2f (B) 8&fem
©) 12f= (D) 50fe=

On selling an article for ¥ 329, a dealer lost 6%. The cost price of the article is
(A) T310.37 (B) T 34874
(C)y T335 (D) 350

T 320 ¥ U T hl o9 T Th SR Bl 6% I BT g3, T S HI HI oA T8 7

(A) T310.37 (By ¥348.74 ErE

B

(C) 335 (D) T 350

Average of three numbers is 40. If average of two of them is 38, find the third number.
(A) 38 (B) 40
(C) 42 (D) 44

i e @1 3 40 8 | Ffe 399 ¥ <1 el 1 3iihd 38 g, af el g gt

(A) 38 (B) 40

(C) 42 (D) 44
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97. What will be the amount received on ¥ 3,000 for 2 years given at the simple rate of

interest 11% per annum ?

(A) %2340 (B) % 3,660

(C) T4.320 (D) %3330

% 3,000 W 2 @ < fAw 1 1% 3 ariie HTameT &1 0 | fohat =iy wre gl ¢
[E[E

A) T2.340 B) T 3.660

(A) (B) Eﬁ

(C) T4,320 (D) 3,330

98. The difference of simple interest for 2 years and 3 years on a sum of ¥ 2,100 at 8% per

annum is

(A) T336 (B) T 168

(C) T 1.680 (D) %504

T 2,100 gAY Ud 8% a1ften 6 U T 2 ad 3R 3 o o [T SATS T T AN —
(A) T336 (B) T 168

(C) 1,680 (D) T504

99. A bicycle 1s purchased for T 1,800 and is sold at a profit of 12%. Its selling price is
(A) 71,584 (B) %2016
(C) T 1,788 (D) T 1,812
wF AR T 1,800 F @ltemt 129% o u st d a1 sgent fasea gea 2
(A) T 1,584 (B)y 2,016

(C) T 1,788 (D) 1812
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100. In the given figure, the value of'a is

40° Sa
I D
(A) 5° (By 10°
€y 20° (D) 50°
ﬁqmﬁaﬁuaﬂm%:

90°

Y
<
™

v

M

40° S5a

(A) 5° (B) 10°
(Cy 20° (D) 50°

101. If 1 m? = x mm?, then the value of x is

(A) 10000 (B) 1000
(C) 100000 (D) 1000000
Ffe | =l fe = » ol freffir gan 8, A v H A @
(A) 10000 (B) 1000
(C) 100000 (D) 1000000
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102.

103.

(71)

15 m? is the area of

(A) A square having side 15 m

(B) 3 squares having side 5 m each
(C) 5 squares having side 3 m each
(D) 15 squares having side 1 m each

15 & et e 2

(A) e ot foraeht am 15 #iex 2 |

(B) 3 e foraehY weden bt g 5 #fien B |
(C) 5@ bt weaieh <61 ofsn 3 et @ |
(D) 15 3 formm wede iy 1 fie |

Find the volume of the given figure.

3y

(A) 6y (B) 6y*

(C) 22y (D) 9y?
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104, “Music is a modem secret exercise of the subconscious mind of a human being related to
the numbers of arithmetic.” This statement is related to which value of mathematics ?
(A) Intellectual value (B Cultural value
(C) Artistic value (D) Social value
“griid W % 3T T4 1 ST hl HEA3N § Traf-ia v 3y T Smm R 1 ag
HYH T o fobl e | wrafam 2 9

(A) Hfe® gea (B) ®TEplaes g
(C) HeTcHsh godl (D) TR o

105. RICE is a rhombus. Find the perimeter of the rhombus according to the given
measurement.

E L2
Y[+ y
R ERE
(A) 20 (B) 28 Eﬁ
(C) 52 (D) 68
RICE U Ta=Iq¥s 2 | 31rebfa & fu mu ara % sy ot ww=qeds 1 afema wma Hifsm )
c

(A) 20 (B) 28
(Cy 52 (D) 68
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106. “Mathematics is a mirror of civilization and culture.” Who gave this statement ?
(A) Locke (B) Galileo
(C) Hogben (D) Roger Bacon

“rifird |2l Ud HEhid 1 v @ |7 9 A fem e
(A) i (B) Tefifer

(C) g (D) TS S

107. Which method is based on the principle of “To observe and learn™ ?
(A) Inductive method
(B) Programmed Instruction method
(C) Laboratory method
EmE
e

“fltero U 3R Hi@r & fagra w [ o fafa snafa @ 7

(D) None of these

(A) e fafy
(B) sk seeH fafy
(C) wEmTIITe faft

(D) & ¥ HIg &

https://www.pygonline.com


https://www.pyqonline.com/

A (74) PL-1

108. Which system is not applicable for mathematics teaching through playway at primary

level 7
(A) Montessori (B) Kindergarten
(C) Dalton (D) Lecture

Wt W W EA-Td 4 i fae we % o i i srawen an) @ g g v
(A) wieaht (B) fThsumda

(C) ETeed (D) =T

109. The purpose of diagnostic testing is
(A) To find out the efficiency of the teacher.
(B} Developing different skills of children.
(C) To improve teaching and learning process in mathematics subject.
(D) To examine the suitability of teaching methods.
fremTeTs: e i 39 & - -

(A) fnegen i SHRIGIEA BT T AT |
(B) sTershi = fafem=1 twret =61 faepma = |
(C) Tiiord o =i 1A vE e iR # gUR A1 |

(D) Toregor ferferi <t Sugean i Sifa & |
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110. The best appropriate method for teaching the area of a circle is
(A) Inductive method
(B} Deductive method
(C) Lecture method
(D) Laboratory method
I I EAB TgH T 37 fafer 2 —

(A) A fafy

(B) T fafy EE
He
(C) =T fafy

(D) ST fafy

111, Shde rule is used in Mathematics for
(A) Multiplication and division
(B) Angle measurement
(C) Make the shape smaller and larger
(D) Measurement of angle of elevation
T FATEE FA 1 ITA Ere B
(A) TUH TS | o fer
(B) <hIv Mo & ferg
(C) ITehid i BT a 921 S & ey

(D) 3=1FA =hior 319 & fom
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113,

114,

(76) PL-1

Which of the following statement is not related to nature ot Mathematics ?
(A) Abstract elements are explained in Mathematics.

(B) Area of generalization is limited in Mathematics.

(C) Mathematics is a universal subject.

(D) Number, places, measurement etc. are the basis of Mathematics.

oy -8 2 T o o Y s B R T R ¢
(A) TIfora # 31 Seaalt <l sarEn <hi S 2 |

(B) ifurel & WrHHH 1 &= wifa R |

(C)  TIfore T Hreifie fowa & |

126
T

(D) HEAT, R, AT Scarfe 71ird & U @ |

The word “Curriculum’ is taken from which language ?

(A) German (B) Latin

(C) Arabic (D) Nong of these
vieg “Hitperm” g v & fern man 2 2

(A) (B) A=

(C) &l (D) T IS Tl

Making tables in Mathematics comes under which specific objective ?
(A) Skill (B) Application

(C) Understanding (D) Knowledge

wifre & Aot s foa fory 3eva < arria s @

(A) Wi (B) IgEm

(C) i (D) M
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115.

116.

117,

(77)
Which is the correct numeric form of “Ten lacs twenty thousand three hundred five™ ?
(A) 1020305 (B) 1200305
(C) 10200305 (D) 12200305

‘ed g |19 AR |t uia’ &1 ggl Hifes wa 2

o
-k

A 1020305 B 1200305
(A) (B) uﬁﬁ

(C) 10200305 (Dy 12200305

Make a greatest and smallest number by using digits 2, 5, 7 and 8. Then find difference of

both the numbers. Then from which of the following number this difference is not divisible ?
(A) 2 (B) 3

(C) 5 (D) 9

2, 5, 7 A § I IWT Hid ¢ TGH 921 9 TGY DI T A3 | 379 T A G@nAl
H1 T T AU | w1 o a8 area Fot 1 8 o e @ fwnfora = diar 2 2

(A) 2 (B) 3

)y 5 (D) 9

[n which of the following alternative 500 is not the place value of 57
(A) 2569 (B) 6529
(C) 9256 (D) 9562

o dasR g e d s s ey am 500 T8 8 7

(A) 2569 (B) 6529

(C) 9256 (D) 9562
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118. Which of the following is the correct descending order of fraction ?

1232 3212
(A) 373 BY 3375
w5
3122 322 2
(C) 4’ 2’ ';’5 (D) 4s 5!3!2 Eﬁ
fyeferfiga 1 @ o o fr=ii &1 adt sratd Fa 2 7
1232 3212
(A 2523 B) 37235
3122 3221
©) 72353 D) 73533

119, How many Prime Numbers lie between 1 to 30 ?
(A) 8 (B) 9
(© 10 (D) 11
1% 30 % = feraft s weand et & 7
(A) 8 By 9

() 10 (D) 11

120. Which of the following ratio is greatest ?

A 7 ®) 2
© 2 o) =
o 3 @ o 3 el s R v

A 3 ®) 2
© = o) =
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121.

122,

123.

(79)

SECTION-V /@Ug -V

ENVIRONMENTAL STUDIES / GTaRUl SIS
There are 30 questions in all in this section.
All questions are compulsory.

TERH FAIOTAE |
vt wva arfemd |

Which Lok Devta in Rajasthan is related to obsecration of Lachha Gujri 7
(A) Gogaji (B) Ramdevji

(C) Pabuji (D) Tejaji

T | % W Tl <ol %1 Tae arst o i w3 @ 2

EyE
(A) TSR (B) Twasl E%
(C) drsh (D) sirsit

. 35 e 1 { ol d [« [ /¢ N
Choose the right group for means of transport by roadways :

(A) Jeep, Scooter, Boat (B) Cycle, Car, Jet

(C) Bus, Truck, e-rickshaw (D) Bullock-cart, Camel-cart, Flying car
g A AT < HEA1 % Hg) T I G+ -

(A) i, Whet, 71 (B) ®WEfhd, HN, e

(C) =4, g, 3-famm (D) STTE, HeME, T N

Which disease results into low platelet count in the blood ?

(A) Chicken pox (B) Diabetes

(C) Amoebiasis (D) Dengue

Tore T < IV W@ H wieTied i WA & 8l Al 8 7
(A) Taw aiem (B) TYHT

(C) aftaafing (D) &
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124. Which of the following is known as ‘Manchester” of Rajasthan ?
(A) Jaipur (B) Bhilwara
(C) Nagaur (D) Beawar
Frafafa 1@ 9 frae! UM &1 B3Rt S8 J[1 8 ?
(A) SRR (B) fierarst

(C) AR (D) AT

125. Where Sonar fort 18 situated ?

(A) Jaisalmer (B) Jaipur
(C) Bharatpur (D) Rajsamand
TR g el a2 ¢

=5
(A) SIHAR (B) SR o
(C) WL (D) TSEHS

126. For which community of Rajasthan conservation of forest and wildlife has become a part of

their religious tenet ?
(A) Gunar (B) Sahariva
(C) Bishnois (D) Meena
TS i 8 YA & feTt a1 vd a=rmfl Tieor 3 9iieh 318H &1 9 s T 2 7
(A) T (B) @

(C) fowarg (D) iom
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127,

128,

(81) A

The name of an age-old concept of water harvesting in Himachal Pradesh is —
(A) Surangams (B) Kattas

(C) Kulhs (DY Ens

T weu § o1 HEw 1 GO Heheu T &1 ATH § -

(A) HO™ (B) e

(C) %Fez (D) uftd

Select Jayanti from the following, which is celebrated on the 13™ day of the rising moon of

Chaitra.
(A) Mahaveer Jayanti

(B) Gandhi Jayanti

5
£

(C) Ambedkar Jayanti Eﬁ

(D) Hanuman Jayanti

frferfiaa 3 @ == st g, i o6 3 wra <6 s ver 6 e <6 foa oo e 2
(A) wErH St

(B) et st

(C) ATageht

(D) & St
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129. When was Namami Gange Project launched ?
(A) 2011 (B) 2012
(C) 2013 (D) 2014

TTF T SRR 1 AR Ha Fohan T o 7

(A) 2011 (By 2012

(C) 2013 (Dy 2014

130. Crocodile belongs to which class of Animal Kingdom ?
(A) Aves (B) Reptilia
(C) Amphibia (D) Pisces

WHH=3, vl Sd & fpa gai #1387

5
25

(A) uef (B) @ligd

(C) SieTeeT=t (D) wWH

131. Suncity is the name of

(A) Jaipur (B) Jaisalmer
(C) Barmer (D) Jodhpur
gt fepmep A 2 7

(A) A (B) SHeH
(C) g (D) S
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132. Match the following and choose the correct option :
Hormone Function

(1) Growth hormone (a) Regulation of sexual characteristics in male

(1) Insulin (b) Stimulates growth in organs
(1) Testosterone (c) Regulation of sexual characteristics in female
(iv) Progesterone (d) Regulation of blood sugar level
(i) (i (i) (iv)
(A) (c) (a) (d) (b)
(B) (a) (b) (¢) (d)
(C) (b) (d) (a) (c) %ﬁ
(D) (d) (c) (b) (a)

frafafiea =i gafea =i aen w8 faswen w1 =79+
B =

() gfgema  (a) TF Afen A w Fraw

(i) e (by 3w H gfg i@ e

(iii) TRRUA  (c) WIel ¥ Sk @eqon =1

(iv) TSRLUA (d) (o o 91U Tt & e

(1) (i) (ii1) (iv)
(A) (c) (a) (d) (b)
(B) (a) (b) (c) (d)
(C) (b) (d) (a) (c)
(D) (d) (c) (b) (a)
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133. When is special discount provided on the price of the clothes made up of Khadi ?
(A) 26 January (BY 2 October
(Cy 21 June (D) 5 September
T ¥ w5 i R g T
(A) 26 e (B) 2 3SR

(C) 2134 (D) 5 e

134. What is the main reason for the difficulty in breathing while mountaineering ?

(A) Steep slopes (B) Extreme cold weather

(C) Low air pressure (D) ey wind

TAARIEY °h S T8 T H HISATE 1 J&T B & -

(A) @M (B) 3Tcafus 31 4y

(C) A e (D) whfcfl g g‘%

135. Which of the following come under the abiotic component of the environment ?
(A) Plant (B) Air
(C) Amnimal (D) Bacteria

frefefiga § @ =7 TR % srfas ges % iatd a8 7
(A) dre™ (B)y =13

(C) 5 (D) St
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136. Which of the following is the food of Silkworm ?

(A) Mulberry leaves (BY Jamun leaves
(C) Neem leaves (D) Mango leaves

frefafga T 4 e SIS SR @ R ?
(A) W& i afot (B)y < i e

(C) i i o=t (D) 31y =i ufaal

137. Which alkaloid is found in the tobacco ?

(A) Cocaine (B) Cafteine

(C) Nicotine (D) Morphine

AT H S | Ueehaliss T A1 8 7 e
(A) i (B) M Eﬁ
() Fepifea (D) #6R

138. Rabies disease is caused by

(A) Virus (B} Protozoa
(C) Bacteria (D) Mycoplasma
{&ftst Th1 1 e Eial 2

(A) drPRE (B) WIStz
(C) et (D) TG
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139. Which of the following is not a human source of water pollution ?
(A) Domestic effluent
(B) Sewage
(C) Industrial effluent
(D) Humus matter
frfofiga & < a1 st vewor s aee e @ g
(A) =i feam
(B) anfeasa

(C) ieifres sfgsm

(D) eHd e

EE
o

140. Example of fibre which is obtained from animal.  https://www.pyqonline.com

(A) Cotton (B) Polyester
(C) Nylon (D) Silk

S § ST T T IeTE

(A) FE (B) ifeTeee
(C) A (D) m
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141. What is the main object (aim) of evaluation ?
(A) Maintain discipline
(B) Conduct examination
(C) Question paper setting
(D) Learner’s performance and improvement
oo 1 & I F1 8 7
(A) A ST
(B) wlien e 1
(C) ¥ FAaHT
(D) wifenmaesdl i Iucied vd gar aHl

[

142, Example of Rabi crop is

(A) Maize (B) Soyabean
(C) Groundnut (D) Flax

Tl <hl HHA I I &

(A) W=l (B) drme=
(C) et (D) 3T
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143. Which element is not present in child centered education ?

(A) Play (B) Inactivity

(C) Inspiration (D) Satisfaction

o1l Hizd R d s wmam i gar g ¢

(A) ©a (B) fafswaan EHE
e

(C) Shom (D) Hary

144. In ancient times messages were communicated by which medium ?
(A) Fax (B) Mobile
(C) Messengers (D) Telephone

=Tt § Gl o1 TR A H q1eE O grar o 7
(A) ™ (B) HEEd

(C) T (D) cfwl

145. An example of Audio-Visual Teaching Learning Aid is

(A) Radio (B) Tape-Recorder
(C) Bulletin Board (DY Television
ooy — 79 fneror - sferm w1 e 2

(A) e (B) q-fraprer

(C) weifeaare (D) JehfasE
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146. How will you be related to your father’s brother-in-law’s mother ?

147.

(A) Mami

(C) Mausi

(B) Nani

(D) Sister

3oh forarsit o @ret <hi 7 & TTeh! #4 fegan g ?

(A) T

(C) i

Fuldol fair is held at
(A)  Ajmer

(B) Jaisalmer

(C) Shahpura

(D)  Alwar

(B) ATt

(D) ==

Q0
s

FASIc 1 Hell gl Rl 8 7

(A) 3R

(B) SGAT

(C)

(D) TR
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148. Which of the following is the nearest planet to the Sun ?
(A) Jupiter (B) Earth
(C) Mercury (DY Mars
frafafiea 4 g = @ gd @ Fpean 12 8 7
(A) Fewd (B) et

(C) 94 (D) WA

149. Following traffic sign indicates -

i

iz

(A) Cross-road (B) Pedestrian crossing
(C) Railway crossing (D) Narrow bridge
e e R v Wb T e @ -

iz

(A) == (B) few uR uy
(C) Terd wifem (D) Tehtt gferan

150. Our National Calendar i1s

(A) Jana-gana-mana (B) Vande Mataram
(C) Shivira Calendar (D) National Saka
FHI T o R -

(A) SH-T-TH (B) dc OIRY

(C) farfer w=rm (D) UM W
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INSTRUCTIONS / fdw
(Read carefully and comply / &9 & 43 3R wrad #)
IMPORTANT / Ageaqut

[

In Section Il { Language-1) a candidate has 1o attempt the questions of the language which the candidate has selected as Language-in the
Online Application Form.
AU A (AT 1) H oS A F Al F ew Fan atan T s w3 oA | F w3 e Aee - i fEm e
In Scetion N {Language-11) a candidate has to attempt the questions of the language which the candidate has selected as Language-11in
the Online :\pphmtmn Form. The Language-Il will be different from Language-l.
UL 11 (AI-11) B 36 AE we # e wmen st g fr e w s s o 7 = # e e | fe g
Aqre1-11 A1 8 faer gl
The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the prescribed place
in the OMR Answer Sheet. Your OMR Answer Sheet will be evaluated on the basis of Question Booklet Series Code and Shift No.,
;%IJC\TI n Bonklct Number,

omnﬁzﬁﬁufhﬂm ‘]T;&I:gﬂ ﬁs@ﬂmﬁﬁﬁwi|mﬁﬁ OMR ¥z &1 JegiEA

Afew wA-gfern lﬁzqa %, % amEm i fma s

[

i

A

10

Read mmpILtL instructions carefully and fill the details from 5L No. 1 to 7 in the OMR Answer Sheet and 31 No. 1 to 4 in the Question
Booklet. If vou fail to fill the details and sign as instructed corectly, you will be personally responsible for the consequences arising
luring scanning of your OMR_Answer Sheet,

bt an yit = 9 ey 9 o e | @ 7w OMR ofte vd i | & g aw eyl (i) 9 9t ) aft o e wler
# faaon ae3 a1 FEnat Bt & A OMR sie F w5t & wowmen w3 aw e & uid a9 e 3 26

The Question Booklet comprises 96 pages having 150 questions, After being instructed to open the Booklet, only then the candidates will
open the Question Booklet scals. Check whether the Beoklet contains 150 questions starting from Page Ne. 3 to 90. The Shift Number
required in OMR Sheet will be as per admit card issued to the candidaie and also mentioned on the top of the Question Booklet,

g i # 06 98 mH 150 W 2 | weendt g F—'-J A % IO L wvE-gieT & de g | 97 giafies = 2 B owe-giam
n 150 T & 1 PR 98 WE 3 A WA TR 90 AF £ | mm«hwﬁmwaaﬁnmﬁqﬂmeIMT FAAW S F
2w AT weA- qﬁHﬂT—qﬁmTﬁﬂfraﬁmgqr*’l

AR questions are of MCQ (Mulfiple Choice Question) type. There is only one comect answer o cach question carrving one mark,
There will be no negative marking for wrong answers,
ik wa R Y | werw uaE w1 v e f1an R v wee o fe Pt e £ | e a3 T smmens ot Tl Rl e
AN questions other than language questions of Sections 11 and 111 shall be bilingual.
FE - F W wEate wve 1@ I F v F afofe f wh gl § 5o Rwmda o)

I{1 any event of any mistake in any question’s, candidates will not be penalized, However no corrections will be made in question/s during
Lhe oxd nmll.ﬂmn
weA 3 fore i & ford afvmedi 1 farht werm =01 Fermma = Fom 1w i safy # vt § T weEw s T wam e

I{mnch W mk. if any, may be done in the Question Booklet only in the space provided at the end of the Booklet. Do not tear it off from the
Jugstion Booklet. No additiopal paper shall be provided,

T YRTE o TF 6T ] W - TTeAa o o7 H STe =1 T2 | 380 v -afera 8 78 w1 ) Tl v aafafom s 5w 15 s wwen
Use of Log tables. Caleulator, Slide rule, Mobile phone, Pager, Digital diary, Bluctooth, Microphone or any other electronic item/instru-
ment cic. 15 not allowed. Their use will result in 1.!|‘-L'|'|.hL||t|L¢I1|I.'5|'I
P TG, A, Wi B0, WIS A, T4, =4, ATEFRIEA A1 R #7 UER 1 R T /e & wan
afda # | =06 I9am W WA @ s aiea e :n-Tcn'r-?

OMR Answer Sheet will be provided along with {Jll.ll.h“l:lﬂ H".J\ﬂ'\lL[ separately,

OMR 1tz wea-qfear & my ﬂ‘ijﬂhzw & wra |

The Question Booklet will be issued 1o the candidates 10 minutes before the start of examination and the candidate must fill all entries in
OMR Answer Sheet, The Question Booklet seal shall be opened 5 minutes before the start of examination and the candidate must fill 1 to
4 entries correctly on the Question Booklet. After opening the Question Booklet, ensure that any page / question 15 not missing / not
printed / torn / repeated. In case, vou find any defect anywhere in the Question Booklet, immediately inform the Invigilater and get it
replaced within § minutes by the Invigilator. Warning Bell will ring a1 3 minutes before closer of examination and the last long bell will
ring at closer of examination.

:rmna«‘ruﬂ-qﬁ-mwm AT B lnfn'r!'raf A | AEe AEaE T A OMR sfiz o wdt ufatei =1 wd wFR a9t
wyA -gfers 1 W 9 s F 5 e *JH Hl wW AT | & 4 4wt & we ST.IT‘ A q | N -gEaE JeE T
qﬁsn:ﬁma’sn—ﬁfaﬁrﬁ—mﬁ g # /T W gl Al qE 2 wE TR mwvﬁ%mm%m
EER IR A Po M oAl R - pack: | ?r‘q* crrﬂﬁﬁ*'m:rm:h&ﬁﬂrﬁaara-n 5 fire % i o @1 s g - q
FeAdl A | AAER TE TR waie & 5 e o ot e = w9 witen sfen w e

Write yvour Name, Exam Center Code, Signature, Roll No., Question Booklet Series Code, Shift Number and Question Paper Booklet
Numbgr jn the space provided in the Question Booklet as well as in the OMR Answer Shee L. . ) =

o - T lJHIR sz @ TAsfie 3 T AW, 98 6 F &S, Se, ATHIE, quﬁ-wé:m i wrz, firee wwiE oA we g
FATT ﬂﬁ?{ | ) )
With cach question vou will find 4 posstble answers marked by the letters A, B, C & D. Read cach question carcfully and find out which
answer, according to you is correct. Indicate your answer by darkening the appropnate circle completely in the OMR Answer Sheet
orresponding 1o the question. For marking WS usE blue/black ballpoint pen only. Gel pens/pencils are llnl allowed,

I W9 o AR AT S0 A, B, CA D #5003 | 9 A1 S 1 6l SA R w5 S *1'1' I'T'U\ Tﬁ i fiidff-ﬂd A AT
5 Ty T I ] R S B | S AU o e e a1 e A ey 9 1 #1 g k| 4 It afda # |

Comrect Mahod CORRECT [ wHl WIRONG | TR WRONG TR WRONG | TER WRONG | e

i OO0 ® BOooOO|[ogCO||cOoCO||[CeCe

OMR Answer Sheet is designed for computer evaluation, If you do not follow the instructions given above and at the backside of the
OMR Answer Sheet, it may make evaluation by computer difficult. Any resultant loss to the candidate on the above account shall be of
the candidate only.

OMR 5T F1 FP2% 210 Heai#A & ford = o 2 ) afz o 5o vd QMR 3fe 7 foge ye v foa w feisi 1 arem 79 #, 71 e
T TR HEITEA 5T 21 AT | 38 o & qiedi #1 g are e # freer saedk A Enf |

No candidate should leave the examination hall before the final bell. The OMR Answer Sheet is carbonless in c|:Jp|1|_':JlL' h:wln::l_
perforation on the left side, Candidate should detach carcfully the Original Copy from the Candidate’s Copy (Duplicate) so that the
Onginal Copy is not mutilated in any way. Candidate should handover the Original OMR Copy and Question Booklet to the invigilator
before leaving the examination hall. Candidate can carry only the Candidate’s OMR copy with him/her. Question Booklet is not
allowed to be taken by the candidate.

Fid i sfem 99 = & o wien T # 9w o W aw | OMR e 3 O s el afew ¥ o et o weie
frm e 2 ﬁﬂmm*waﬁqﬁlﬁﬂﬁtﬂﬁ{ﬁ]nqvuﬁmm Al o ATl T ot 3 @ e wfa & R el A wE
qlian-wa 2 5 9F weadi OMR 91 g8 wfs 6 v g faw a1 die 2 ) st e s U\Ikﬁwﬁﬁmﬁmﬁmﬁl
i -qfre el w9 W Tl & o adR

Wrong Method @
TR T
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